UDC 517.968

ON SOLVABILITY OF A CLASS OF HIGHER-ORDER NONLINEAR INTEGRO-DIFFERENTIAL EQUATIONS WITH A NONCOMPACT INTEGRAL OPERATOR OF THE HAMMERSTEIN TYPE

KH.A. KHACHATRYAN

Abstract. In the present paper we investigate the question of solvability of one class of Hammerstein type Nth order nonlinear integro-differential equations with a noncompact integral operator on the semi-axis in the Sobolev space $W_{\infty}^{N}(0, +\infty)$. The existence of a positive solution in $W_{\infty}^{N}(0, +\infty)$ is proved, and the limit of this solution at infinity is found. The obtained results are generalized for nonlinear equations with sum-difference kernels.

Keywords: Factorization, polynomial, limit of iteration, Sobolev space. invariants.

1. PROBLEM STATEMENT AND INTRODUCTION

The following class of nonlinear integro-differential equations in considered in the present paper with respect to the unknown real function f(x):

$$\frac{d^N f}{dx^N} + \sum_{j=1}^N a_j \frac{d^{N-j} f}{dx^{N-j}} + \lambda(x) \int_0^\infty K(x-t) G(f(t)) dt = 0, \quad x \in \mathbb{R}^+, \ N \ge 2.$$
(1)

Here $a_j (j = 1, 2, 3, ..., N)$ are real coefficients, and

$$a_N < 0, \tag{2}$$

and the corresponding polynomial $P(x) \equiv x^N + \sum_{j=1}^N a_j x^{N-j}$ has only real rots.

In (1), $\lambda(x)$ and K(x) are measurable functions on sets $(0, +\infty)$ and $(-\infty, +\infty)$, respectively and $x = \lambda(x) \uparrow \text{ over } x \text{ in } (0, +\infty) = 0 \leq \lambda(x) \leq 1 = x \in (0, +\infty)$

a)
$$\lambda(x) \uparrow \text{ over } x \text{ in } (0, +\infty), \quad 0 \leq \lambda(x) \leq 1, \quad x \in (0, +\infty), \\ 1 - \lambda \in L_1(0, +\infty), \quad \lambda \in W^N_\infty(0, +\infty)$$
(3)

b)
$$K(x) \ge 0, \quad x \in (-\infty, +\infty), \quad a_N + \int_{-\infty}^{+\infty} K(\tau) d\tau = 0,$$

 $K \in C(\mathbb{R}), \quad \int_{-\infty}^{+\infty} |\tau| K(\tau) d\tau < +\infty.$
(4)

The function G(x) is measurable and is defined on $(-\infty, +\infty)$. At the same time it is assumed that there is a number $\eta > 0$, such that

 $-\infty$

c)
$$G \in C[0,\eta], \quad G \uparrow \text{ over } x \text{ in the interval } [0,\eta], \\ G(x) \ge x, \quad x \in [0,\eta], \quad G(\eta) = \eta.$$

$$(5)$$

© Khachatryan Kh.A. 2011.

Submitted on 03 September 2010.

The unknown solution to Equation (1) satisfies the following boundary-value conditions:

$$f(0) = 0, \quad f \in W_{\infty}^{N}(0, +\infty) = \{\varphi(x) : \varphi^{(k)} \in L_{\infty}(0, +\infty), \quad k = 0, 1, \dots, N\},$$
(6)

where $\varphi^{(k)}$ denotes the k-th derivative of the function $\varphi(x)$.

First results in the study of nonlinear integral equations with compact Urysohn and Hammerstein operators were obtained in works of M.A. Krasnoselskii and his disciples ([1-5]). The works provide various necessary and sufficient conditions ensuring complete continuity of the Urysohn and Hammerstein operators. In [6-8], existence theorems for solution with assumption of complete continuity of the corresponding nonlinear integral operator were proved. Equation (1) was investigated in the particular case when $C(x) = x - \lambda(x) = 1$. N - 2

Equation (1) was investigated in the particular case when $G(x) \equiv x$, $\lambda(x) \equiv 1$, N = 2 earlier in [9]. Recently, I proved structural theorems of existence for the case when N = 2, $\lambda(x) \equiv 1$, and G(x) satisfies the conditions (5) (see [10,12]).

In the present paper, methods of the classical theory of functions of a complex variable, and some results from the theory of linear integral equations of convolution type make it possible to prove existence of a nontrivial solution to the problem (1),(6) and to describe its structure. Moreover, the limit of the constructed solution at infinity is calculated. The results obtained are generalized for the following class of nonlinear integro-differential equations:

$$\frac{d^N f}{dx^N} + \sum_{j=1}^N a_j \frac{d^{N-j} f}{dx^{N-j}} + \lambda(x) \int_0^\infty K(x-t) G(f(t)) dt + \int_0^\infty \mathring{K}(x+t) G_0(f(t)) dt = 0, \ N \ge 2, \quad (7)$$

where

$$0 \leqslant \overset{\circ}{K} \in L_1(0, +\infty) \text{ and } \int_x^\infty \overset{\circ}{K}(\tau) d\tau \leqslant \int_x^\infty K(\tau) d\tau, \quad x \in \mathbb{R}^+,$$
 (8)

and G_0 is a measurable function defined in $(-\infty, +\infty)$ and

$$G_0 \in C[0,\eta], \quad G_0(x) \ge 0, \quad x \in [0,\eta], \quad G_0 \uparrow \text{ over } x \text{ in } [0,\eta] \\ G_0(\eta) = \eta.$$
(8')

2. Factorization problem. Reduction to the basic nonlinear integral Equation

Let us introduce the class of nonlinear integral operators $\mathcal{K}_G \in \Omega$, if there exists a measurable function $K^*(x,t)$, $((x,t) \in \mathbb{R}^+ \times \mathbb{R}^+)$, such that

$$(\mathcal{K}_G f)(x) = \int_{0}^{\infty} K^*(x,t) G(f(t)) dt, \quad f \in L_{\infty}(\mathbb{R}^+),$$

$$G: L_{\infty}(\mathbb{R}^+) \to L_{\infty}(\mathbb{R}^+),$$
(9)

and the kernel $K^*(x,t) \geq 0$ satisfies the following estimates. There are functions $0 \leq K \in L_1(\mathbb{R}), \quad 0 \leq \lambda(x) \leq 1$, such that

$$K^*(x,t) \ge \lambda(x)K(x-t), \quad (x,t) \in \mathbb{R}^+ \times \mathbb{R}^+.$$
^(9')

$$\sup_{x>0} \int_{0}^{\infty} K^{*}(x,t)dt < +\infty.$$
(9")

The conditions (9), (9'') provide $\mathcal{K}_G : L_{\infty}(\mathbb{R}^+) \to L_{\infty}(\mathbb{R}^+)$. Let $\alpha_1, \alpha_2, \ldots, \alpha_n$ $(n \in N)$ be positive roots of the polynomial P(x). The condition (2), in view of the Vieta theorem, entails that n is an odd number. Denote by $-\beta_1, -\beta_2, \ldots, -\beta_m$ negative roots P(x) (m + n = N).

Let us introduce the differential operators

$$P(D) = D^{N} + a_{1}D^{N-1} + a_{2}D^{N-2} + \ldots + a_{N-1}D + a_{N}I,$$

acting from the space $W_{\infty}^{N}(0, +\infty)$ in $L_{\infty}(0, +\infty)$, where D is a differential operator, and I is a unit operator.

It follows from the above that

$$P(D) = (D - \alpha_1 I)(D - \alpha_2 I)\dots(D - \alpha_n I)(D + \beta_1 I)(D + \beta_2 I)\dots(D + \beta_m I).$$
(10)

Denote by \mathcal{J}_{α_j} (j = 1, 2, ..., n) the operators inverse to the operators $(\alpha_j I - D)$ in the space $W^1_{\infty}(0, +\infty)$.

Then, one can readily verify that

$$(\mathcal{J}_{\alpha_j}f)(x) = \int_x^\infty e^{-\alpha_j(t-x)} f(t) dt, \quad f \in L_\infty(\mathbb{R}^+),$$

$$j = 1, 2, \dots, n.$$
(11)

The following lemma holds.

Lemma 1. If $\mathcal{K}_G \in \Omega$ and $\lambda(x) \uparrow$ with respect to x, then $\mathcal{J}_{\alpha_j} \mathcal{K}_G \in \Omega$, j = 1, 2, ..., n. **Proof.** Let $f \in L_{\infty}(\mathbb{R}^+)$ be an arbitrary function. Then, one has

$$(J_{\alpha_j}\mathcal{K}_G f)(x) = \int_x^\infty e^{-\alpha_j(t-x)} \int_0^\infty K^*(t,\tau) G(f(\tau)) d\tau dt =$$
$$= \int_0^\infty \left(\int_x^\infty e^{-\alpha_j(t-x)} K^*(t,\tau) dt\right) G(f(\tau)) dt = \int_0^\infty T^*(x,\tau) G(f(\tau)) d\tau,$$

where $T^*(x,\tau) = \int_0^\infty e^{-\alpha_j z} K^*(x+z,\tau) dz$. Note also that $\int_0^\infty T^*(x,\tau) d\tau \leq \frac{1}{\alpha_j} \sup_{x>0} \int_0^\infty K^*(x,\tau) d\tau < +\infty$. The estimate (9') and the monotonous function λ provide

$$T^*(x,\tau) \ge \int_0^\infty e^{-\alpha_j z} \lambda(x+z) K(x+z-\tau) dz \ge \lambda(x) \int_0^\infty e^{-\alpha_j z} K(x+z-\tau) dz \equiv \lambda(x) T(x-\tau),$$

while $T \in L_1(\mathbb{R})$ and $\int_{-\infty}^{+\infty} T(x) dx \leq \frac{1}{\alpha_j} \int_{-\infty}^{+\infty} K(x) dx$. The lemma is proved.

Let us write Equation (1) in the operator form

$$(P(D) + \mathcal{K}_G)f = 0, \tag{12}$$

where

$$(\mathcal{K}_G f)(x) = \lambda(x) \int_0^\infty K(x-t)G(f(t))dt,$$

and the functions λ , K and G satisfy the conditions a, b, c).

Consider the following factorization problem. Given operators P(D) and $\mathcal{K}_G \in \Omega$. Find an integral operator $T_G \in \Omega$ such that

$$P(D) + \mathcal{K}_G = \prod_{j=1}^n (D - \alpha_j I) \left(\prod_{j=1}^m (D + \beta_j I) - T_G \right).$$

$$(13)$$

In order to solve the problem, first consider the product of the operators \mathcal{J}_{α_1} and $\mathcal{K}_G: T_{1,G} \equiv \mathcal{J}_{\alpha_1} \mathcal{K}_G.$

103

One has

$$(T_{1,G}f)(x) = \int_{x}^{\infty} e^{-\alpha_{1}(t-x)}\lambda(t) \int_{0}^{\infty} K(t-\tau)G(f(\tau))d\tau dt =$$

$$= \int_{0}^{\infty} G(f(\tau)) \int_{0}^{\infty} e^{-\alpha_{1}z_{1}}K(x+z_{1}-\tau)\lambda(z_{1}+x)dz_{1}d\tau = \int_{0}^{\infty} T_{1}(x,\tau)G(f(\tau))d\tau, \text{ where}$$

$$T_{1}(x,\tau) \equiv \int_{0}^{\infty} e^{-\alpha_{1}z_{1}}K(x+z_{1}-\tau)\lambda(x+z_{1})dz_{1} \ge$$

$$\geq \lambda(x) \int_{0}^{\infty} e^{-\alpha_{1}z_{1}}K(x+z_{1}-\tau)dz_{1} \equiv \lambda(x)T_{1}^{*}(x-\tau),$$

$$T_{1}^{*}(x) = \int_{0}^{\infty} K(x+z_{1})e^{-\alpha_{1}z_{1}}dz_{1}.$$
(16)

Lemma 1 provides also $T_{2,G} \equiv \mathcal{J}_{\alpha_2} \mathcal{K}_G \in \Omega$. Construct its kernel similarly:

$$(T_{2,G}f)(x) = \int_{x}^{\infty} e^{-\alpha_{2}(t-x)} \int_{0}^{\infty} T_{1}(t,\tau)G(f(\tau))d\tau dt =$$

$$= \int_{0}^{\infty} G(f(\tau)) \int_{x}^{\infty} e^{-\alpha_{2}(t-x)}T_{1}(t,\tau)dtd\tau = \int_{0}^{\infty} T_{2}(x,\tau)G(f(\tau))d\tau, \text{ where}$$

$$T_{2}(x,\tau) = \int_{0}^{\infty} e^{-\alpha_{2}z_{2}} \int_{0}^{\infty} e^{-\alpha_{1}z_{1}}K(x+z_{1}+z_{2}-\tau)\lambda(x+z_{1}+z_{2})dz_{1}dz_{2} \ge \lambda(x)T_{2}^{*}(x-\tau),$$

where

$$T_2^*(x) = \int_0^\infty e^{-\alpha_2 z_2} \int_0^\infty e^{-\alpha_1 z_1} K(x+z_1+z_2) dz_1 dz_2.$$

Induction over *n* readily verifies that $T_{n,G} \equiv \mathcal{J}_{\alpha_n} T_{n-1,G} = \prod_{j=1}^n \mathcal{J}_{\alpha_j} \mathcal{K}_G \in \Omega$ and is given by the following formulae:

$$(T_{n,G}f)(x) = \int_{0}^{\infty} T_{n}(x,\tau)G(f(\tau))d\tau, \quad f \in M(\mathbb{R}^{+}),$$

$$T_{n}(x,\tau) = \int_{0}^{\infty} e^{-\alpha_{n}z_{n}} \int_{0}^{\infty} e^{-\alpha_{n-1}z_{n-1}} \int_{0}^{\infty} \dots$$

$$\dots \int_{0}^{\infty} e^{-\alpha_{1}z_{1}}K(x+z_{1}+\dots+z_{n}-\tau)\lambda(x+z_{1}+\dots+z_{n})dz_{1}\dots dz_{n} \ge$$

$$\geq \lambda(x)T_{n}^{*}(x-\tau),$$

$$(17)$$

where

$$T_n^*(x) = \int_0^\infty e^{-\alpha_n z_n} \int_0^\infty e^{-\alpha_{n-1} z_{n-1}} \int_0^\infty \dots \int_0^\infty e^{-\alpha_1 z_1} K(x + z_1 + \dots + z_n) dz_1 \dots dz_n.$$
(18)

Therefore, since n is an odd number, then one can take $T_G \equiv T_{n,G}$ as the operator T_G . Thus, the following lemma is formulated.

Lemma 2. Let the functions λ , K and G satisfy the conditions a), b), c) and $G: L_{\infty}(\mathbb{R}^+) \to L_{\infty}(\mathbb{R}^+)$. Then, the operator $P(D) + \mathcal{K}_G$ admits factorization (13), where $T_G \equiv T_{n,G} \in \Omega$ is given by the formula (17).

In view of the factorization (13), solution to the problem (1),(6) is equivalent to successive solution of the following connected equations:

$$\prod_{j=1}^{n} (D - \alpha_j I)\varphi = 0, \tag{19}$$

$$\left(\prod_{j=1}^{m} (D+\beta_j I) - T_G\right) f = \varphi.$$
(20)

Consider Equation (19):

$$(D - \alpha_1 I)(D - \alpha_2 I)\dots(D - \alpha_n I)\varphi = 0.$$
 (21)

Since $f \in W_{\infty}^{N}(0, +\infty)$, then $\varphi \in W_{\infty}^{n}(0, +\infty)$. Hence, obviously, $\varphi(x) \equiv 0$. Thus, solution of the problem (1), (6) is reduced to the following integro-differential equation:

$$\prod_{j=1}^{m} (D + \beta_j I) f - \int_{0}^{\infty} T_n(x,\tau) G(f(\tau)) d\tau = 0,$$
(22)

with the boundary-value conditions

$$f(0) = 0, \quad f \in W_{\infty}^{N}(0, +\infty).$$
 (23)

Let use the notation

$$F(x) \equiv (D + \beta_m I)(D + \beta_{m-1}I)\dots(D + \beta_1 I)f(x).$$

Then, in view of (23), one can readily verify that

$$F \in W^n_{\infty}(0, +\infty)$$

and

$$f(x) = \int_{0}^{x} e^{-\beta_{1}(x-\tau_{1})} \int_{0}^{\tau_{1}} e^{-\beta_{2}(\tau_{1}-\tau_{2})} \dots \int_{0}^{\tau_{m-1}} e^{-\beta_{m}(\tau_{m-1}-\tau_{m})} F(\tau_{m}) d\tau_{m} \dots d\tau_{1}.$$
 (24)

Hence, the equation (22) takes the form

$$F(x) = \int_{0}^{\infty} T_{n}(x,\tau) G\left(\int_{0}^{\tau} e^{-\beta_{1}(\tau-\tau_{1})} \int_{0}^{\tau_{1}} e^{-\beta_{2}(\tau_{1}-\tau_{2})} \dots \right.$$

$$\int_{0}^{\tau_{m-1}} e^{-\beta_{m}(\tau_{m-1}-\tau_{m})} F(\tau_{m}) d\tau_{m} d\tau_{m-1} \dots d\tau_{1} d\tau, \quad x \in \mathbb{R}^{+}.$$
(25)

The following section is devoted to the questions of solvability of Equation (25). The limit of the function F(x) at infinity is also calculated there.

105

3. Solution of Equation (25)

Consider the following iterations:

$$F_{(p+1)}(x) = \int_{0}^{\infty} T_{n}(x,\tau) G\left(\int_{0}^{\tau} e^{-\beta_{1}(\tau-\tau_{1})} \int_{0}^{\tau_{1}} e^{-\beta_{2}(\tau_{1}-\tau_{2})} \dots \right)$$

$$\cdot \int_{0}^{\tau_{m-1}} e^{-\beta_{m}(\tau_{m-1}-\tau_{m})} F_{(p)}(\tau_{m}) d\tau_{m} d\tau_{m-1} \dots d\tau_{1} d\tau,$$

$$F_{(0)}(x) = \prod_{j=1}^{m} \beta_{j}\eta, \quad p = 0, 1, 2, \dots, \quad x \in \mathbb{R}^{+}.$$

(26)

First, let us verify by means of induction over p that

$$F_{(p)}(x) \downarrow \text{ over } p$$
 (27)

If p = 1 one has

$$F_{(1)}(x) = \int_{0}^{\infty} T_{n}(x,\tau) G\left(\int_{0}^{\tau} e^{-\beta_{1}(\tau-\tau_{1})} \int_{0}^{\tau_{1}} e^{-\beta_{2}(\tau_{1}-\tau_{2})} \dots \int_{0}^{\tau_{m-1}} e^{-\beta_{m}(\tau_{m-1}-\tau_{m})} \eta \prod_{j=1}^{m} \beta_{j} d\tau_{m} d\tau_{m-1} \dots d\tau_{1}\right) d\tau \leqslant \\ \leqslant \int_{0}^{\infty} T_{n}(x,\tau) G\left(\prod_{j=1}^{m-1} \beta_{j} \int_{0}^{\tau} e^{-\beta_{1}(\tau-\tau_{1})} \int_{0}^{\tau_{1}} e^{-\beta_{2}(\tau_{1}-\tau_{2})} \dots \int_{0}^{\tau_{m-2}} e^{-\beta_{m-1}(\tau_{m-2}-\tau_{m-1})} \eta d\tau_{m-1} d\tau_{m-2} \dots d\tau_{1}\right) d\tau \leqslant \\ \leqslant \int_{0}^{\infty} T_{n}(x,\tau) G(\eta) d\tau = \eta \int_{0}^{\infty} T_{n}(x,\tau) d\tau \leqslant \eta \int_{-\infty}^{+\infty} T_{n}^{*}(z) dz = -\frac{a_{N}\eta}{\prod_{j=1}^{n} \alpha_{j}} \equiv \infty$$
(28)

The Vieta theorem immediately provides that

$$(-1)^{N-m}\alpha_1\alpha_2\ldots\alpha_n\beta_1\beta_2\ldots\beta_m = a_N < 0,$$

or

$$\prod_{j=1}^{n} \alpha_j \prod_{j=1}^{m} \beta_j = -a_N,$$

hence,

$$a \equiv \eta \prod_{j=1}^{m} \beta_j \equiv F_{(0)}(x)$$
, i.e. $F_{(1)}(x) \leq F_{(0)}(x)$.

Further, assuming that

$$F_{(p)}(x) \leqslant F_{(p-1)}(x)$$

and using properties of the function G, one obtains

 $F_{(p+1)}(x) \leqslant F_{(p)}(x).$

Thus, (27) is proved.

Consider the following linear integral equation together with Equation (25):

$$S(x) = \lambda(x) \int_{0}^{\infty} T_{n}^{*}(x-\tau) \int_{0}^{\tau} e^{-\beta_{1}(\tau-\tau_{1})} \int_{0}^{\tau_{1}} e^{-\beta_{2}(\tau_{1}-\tau_{2})} \dots$$

$$\dots \int_{0}^{\tau_{m-1}} e^{-\beta_{m}(\tau_{m-1}-\tau_{m})} S(\tau_{m}) d\tau_{m} d\tau_{m-1} \dots d\tau_{1} d\tau, \quad x \in \mathbb{R}^{+}.$$
(29)

This equation is readily reduced to the following integral equation:

$$S(x) = \lambda(x) \int_{0}^{\infty} W_m(x - \tau_m) S(\tau_m) d\tau_m, \quad x \in \mathbb{R}^+,$$
(30)

where

$$0 \leqslant W_m \in L_1(\mathbb{R}), \quad \int_{-\infty}^{+\infty} W_m(\tau) d\tau = \frac{1}{\prod_{j=1}^m \beta_j} \int_{-\infty}^{+\infty} T_n^*(z) dz = 1$$
(31)

(see the chain of inequalities (28)).

The form of the kernels $W_j(x)$, (j = 1, 2, ..., m) is provided by the following recurrent relations with the use of Fubini's theorem:

$$W_{j}(x) = \int_{0}^{\infty} W_{j-1}(x - z_{j})e^{-\beta_{j}z_{j}}dz_{j}, \ j = 2, 3, \dots, m,$$

$$W_{1}(x) = \int_{0}^{\infty} T_{n}^{*}(x - z_{1})e^{-\beta_{1}z_{1}}dz_{1}.$$
(32)

Suppose that

$$\nu(W_m) \equiv \int_{-\infty}^{+\infty} \tau W_m(\tau) d\tau < 0.$$
(33)

Absolute convergence of the latter integral is provided by (4) and by Fubini's theorem.

It follows from results of the works [11, 12] that if conditions (31) and (33) are satisfied, Equation (30) has a monotone increasing nontrivial bounded solution $0 \leq S(x)$. Let us introduce the notation

$$S^{*}(x) = \frac{\prod_{j=1}^{m} \beta_{j} \eta S(x)}{c}, \quad c = \sup_{x>0} S(x).$$
(34)

Let us prove by induction that the sequence $\{F_{(p)}(x)\}_0^\infty$ satisfies the following estimate :

$$F_{(p)}(x) \ge S^*(x), \quad p = 0, 1, 2, \dots$$
 (35)

In the case p = 0, it is obvious, since

$$F_{(0)}(x) = \eta \prod_{j=1}^{m} \beta_j = \sup_{x>0} S^*(x) \ge S^*(x) \ge 0.$$
(36)

Suppose that

$$F_{(p-1)}(x) \ge S^*(x).$$

In view of (29), (30), (34), (5), (17), the relations (26) provides:

$$F_{(p)}(x) \ge \int_{0}^{\infty} T_{n}(x,\tau) G\left(\int_{0}^{\tau} e^{-\beta_{1}(\tau-\tau_{1})} \int_{0}^{\tau_{1}} e^{-\beta_{2}(\tau_{1}-\tau_{2})} \dots \right)$$
$$\dots \int_{0}^{\tau_{m-1}} e^{-\beta_{m}(\tau_{m-1}-\tau_{m})} S^{*}(\tau_{m}) d\tau_{m} d\tau_{m-1} \dots d\tau_{1} d\tau \ge$$
$$\ge \lambda(x) \int_{0}^{\infty} T_{n}^{*}(x-\tau) \int_{0}^{\tau} e^{-\beta_{1}(\tau-\tau_{1})} \int_{0}^{\tau_{1}} e^{-\beta_{2}(\tau_{1}-\tau_{2})} \dots \int_{0}^{\tau_{m-1}} e^{-\beta_{m}(\tau_{m-1}-\tau_{m})} S^{*}(\tau_{m}) d\tau_{m} d\tau_{m-1} \dots d\tau_{1} d\tau =$$

$$= \lambda(x) \int_{0}^{\infty} W_m(x - \tau_m) S^*(\tau_m) d\tau_m = S^*(x).$$

Thus, (27) and (35) provide that the sequence of functions $\{F_{(p)}(x)\}_0^\infty$ has a pointwise limit:

$$\lim_{p \to \infty} F_{(p)}(x) \equiv F(x),$$

which satisfies Equation (25) due to B.Levy's theorem (see[13]). Now, prove that $F \in W^n_{\infty}(0, +\infty)$. Indeed, since $h_j(x, \tau) = \frac{\partial^j T_n(x, \tau)}{\partial x^j}$, (j = 1, 2, ..., n) is continuous in $(0, +\infty) \times (0, +\infty)$ and the summand function with every fixed $\tau \in (0, +\infty)$, and integrals

$$\int_{0}^{\infty} h_{j}(x,\tau) G\left(\int_{0}^{\tau} e^{-\beta_{1}(\tau-\tau_{1})} \int_{0}^{\tau_{1}} e^{-\beta_{2}(\tau_{1}-\tau_{2})} \dots \right)$$
$$\dots \int_{0}^{\tau_{m-1}} e^{-\beta_{m}(\tau_{m-1}-\tau_{m})} F(\tau_{m}) d\tau_{m} d\tau_{m-1} \dots d\tau_{1} d\tau, \quad j = 1, 2, \dots, n$$

converge uniformly, and $F \in M(\mathbb{R}^+)$ then, (25) provides that $\frac{d^j F}{dx^j} \in M(0, +\infty)$, $j = 0, 1, 2, \ldots, n$, i.e. $F \in W^n_{\infty}(0, +\infty)$ in view of the theorem on differentiation under the integral (see [14]).

On the other hand, since $S^*(x) \uparrow \eta \prod_{j=1}^m \beta_j$ (see (34) and the work [12]), then it follows

immediately from the following inequality $S^*(x) \leq F(x) \leq \eta \prod_{j=1}^m \beta_j$ that $\exists \lim_{x \to \infty} F(x) = \eta \prod_{j=1}^m \beta_j$.

In view of the known convolution operations (see [15]), (24) provides existence of the limit

$$\lim_{x \to \infty} f(x) = \eta.$$

Since $F \in W_{\infty}^{n}(0, +\infty)$, then (24) yields $f \in W_{\infty}^{N}(0, +\infty)$. Thus, the following theorem is proved.

Theorem 1. Let us assume that the polynomial P(x) has only real roots and $a_N < 0$. Then, provided that the conditions (3)-(5) and $\nu(W_m) < 0$ hold, the problem (1), (6) has a nonvanishing, nonnegative solution with the limit η at infinity.

Reasoning by analogy, one can verify the following theorem.

Theorem 2. Let us assume that all conditions of Theorem 1 hold. Then, if functions K_0 and G_0 satisfy the conditions (8) and (8'), the problem (7), (6) has a nonvanishing, nonnegative solution with the limit $\lim_{x \to \infty} f(x) = \eta$.

4. Examples of functions G and G_0

In what follows, several examples of the function G are given.

- a) $G(x) = x^{\alpha}$, $\eta = 1$, $0 < \alpha < 1$, $x \in \mathbb{R}^+$,
- b) $G(x) = x + \sin x$, $\eta = \pi$, $x \in \mathbb{R}^+$,
- c) $G(x) = \sqrt{xe^{x-1}}, \quad \eta = 1, \quad x \in \mathbb{R}^+.$

d)
$$G(x) = x + \sin^2 x, \ x \in \mathbb{R}^+, \ \eta = \pi k, \ k = 1, 2, 3, \dots$$

Prove that $G(x) = \sqrt{xe^{x-1}}$ satisfies all the requirements of Theorem 1. Indeed,

$$G(0) = 0, \quad G(1) = 1, \quad G(x) \uparrow \text{ over } x, \text{ since}$$
$$G'(x) = \frac{1}{2\sqrt{xe^{x-1}}}(e^{x-1} + xe^{x-1}) > 0, \quad x > 0.$$

108

On the other hand,

$$e^{x-1} \ge x, \quad x \in \mathbb{R}^+$$

Hence,

G(x) > x.

Since conditions imposed on the function G_0 are weaker than conditions on G, then one can take the function G as G_0 . However, consider several examples G_0 as well:

(a) $G_0(x) = x^{\alpha}, \quad \alpha \neq 1, \quad \alpha > 0, \quad \eta = 1,$ (b) $G_0(x) = \eta \sin x, \quad \eta = \frac{\pi}{2},$ (c) $G_0(x) = \eta \ln(x+1), \quad \eta = e - 1.$

Remark. In the linear case when $G(x) \equiv x$, one can choose any positive number as G_0 , and due to Theorem 1 in this case (due to linearity) one obtains a one-parameter family of positive solutions $f_{\eta}(x)$, $(\eta \in (0, +\infty))$ with the limit η from the Sobolev space $W_{\infty}^{N}(0, +\infty)$, $(N \geq 2)$. If η is not uniquely defined from the condition imposed on the function G (e.g. if $G(x) = x + \sin^2 x$, then $\eta = \pi k, k = 1, 2, 3, ...$) then, in this nonlinear case we also obtain a one-parameter family of nonnegative, nonzero solutions and the limit of every function $f_k(x)$ from this family equals to the number $\pi k \ (k = 1, 2, 3, \ldots)$ correspondingly when $x \to +\infty$.

At the end of the work I would like to express my gratitude to the referee for useful remarks, and to professor N.B. Engibaryan for discussions.

REFERENCES

- 1. Krasnosel'skii M.A., Lyubarskii G.A. Transitory solutions of non-linear equations // Izv. Vyssh. Uchebn. Zaved. Mat., KGU. № 4. 1962. Pp. 81-85.
- 2. Krasnosel'skii M.A., Zabreiko P.P., Pustyl'nik E.I., Sobolevskii P.E. Integral operators in spaces of summable functions. Moscow. 1966. 500 p.
- 3. Krasnosel'skii M.A. Positive solutions of operator equations. Moscow. Izd. fiz.mat.lit. 1962. 394 p.
- 4. Zabreiko P.P. On continuity of a nonlinear operator // Sibirskii Mat. Journ. Vol. 5, № 4. 1964. Pp. 958-960.
- 5. Zabreiko P.P. On continuity and complete continuity of P.S Urysohn's operators // Doklady AN SSSR. Vol. 161, № 5. 1965. Pp. 1007–1010.
- 6. J. Banas Integrable solutions of Hammerstein and Urysohn integral equations // J.Austral. Math. Soc. (A). V. 46. 1989. P. 61–68.
- 7. H. Brezis, F.E. Browder Existence theorems for nonlinear integral equations of Hammerstein type // Bull. Amer. Math. Soc. V. 81, № 1. 1975. P. 73–78.
- 8. G. Emmanuele An existense theorem for Hammershtein integral equations. Portugal Mathem // V. 51, № 4. 1994. P. 607–611.
- 9. Khachatryan Kh.A. Solvability of vector integro-differential equations on the semiaxis. Izvestia NAN Armenii, Matematika, vol.43, No5, 2008, pp.70-83 [Journal of Contemporary Mathematical Analysis, 2008, 43:5, 305-316]
- 10. Khachatryan Kh.A. Construction of nontrivial solution of a system of nonlinear integrodifferential equations. Izvestia NAN Armenii, Matematika, vol.45, No2, 2010, pp.67-76 [Journal of Contemporary Mathematical Analysis, 2010, 45:2, 94-100
- 11. Arabadzhyan L.G. On an integral equation of translation in a nonhomogeneous medium // Diff. Equations. Vol. 23, Nº 9. 1987. Pp. 1618–1622.
- 12. Khachatryan Kh.A. Solvability of one class of second-order integro-differential equations with monotone nonlinearity on a semia-axis. Izvestia RAN, ser. Matematicheskaya, vol. 74, No5, 2010, pp.191-204 [Izvestiya:Mathematics, 2010, 74:5, 1069-1082]
- 13. Kolmogorov A.N., Fomin V.S. Elements of the theory of functions and functional analysis. "Nauka Moscow. 1981.
- 14. Tikhonov A.N., Samarskii A.N. Equations of mathematical physics. "Nauka Moscow. 1977.

 Gevorkyan G.G., Engibaryan N.B. New theorems for the renewal integral equation. Izvestia NAN Armenii, Matematika, vol.32, No1, 1997, pp.5-20 [Journal of Contemporary Mathematical Analysis , 1997, 32:1, 2-16]

Khachatur Agavardovich Khachatryan, Institute of Mathematics, National Academy of Sciences of Armenia, 24b Baghramyan Ave., 0019, Yerevan, Armenia E-mail: Khach82@rambler.ru

Translated from Russian by E.D. Avdonina.